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1/13~_—2

&S FR el BE#(GEL) KR FAEH (£2) AR S
7113 |204% Bt B RRERREN HY (BETIEARW) 2A5H - BileS:a=]
7114 [50f% Legc BRREREN HY (BETEAEW) 2A13H HY Eyan=1|

7115 |304% Bt B RRERREN FERER 2R 13H Y E=vad=|

7116 [10f% Eegc BRREREN HY (BETEAEW) 28128 HY) L
7117|6048 Bt SR REREN HY (BETIEARW) 2R11H ) BEZ

7118 |60f% Eegc BRREREN HY (BETEAEW) 28128 HY) A
7119|1048 peq L B RRERREN HY (BETIEARW) 2R11H - L

7120 |40f% 7 eIl HY (BETEAEW) 2A11H »HY (EEMBEERL) BilzNtd=]
7121 |10m%kiE |BiE B RRERREN HY (BETIEARW) 2R 13H HY (F132) #L

7122 |10mKT | B NEFH IR 2A13H HY (FK32) 5L

7123 |304% peq L NIEFH FERER 2R 13H HY (F#32) N— k& <—




2/13~—2

&S FR R BE#(GEL) KR FAEH (£2) AR S
7124 |10m%KiE |BiE B RRERREN FERER 2R 13H HY (FH33) #L
7125 |10mK | B IR HY (BETEAEW) 2A7H HY (FK33) L
7126 |10m%KiE |BiE ERT FERER 2R 13H HY (F#33) #L
7127 |10mKRT | &k BRREREN HY (BETEAEW) 2A13H HY (FK33) L
7128 |504% peq L B RRERREN HY (BETIEARW) 2R 12RH HY L
7129 |80f% Legc BRREREN HY (BETEAEW) 28148 HY) 5L
7130 |204% peq L B RREREN HY (BETIEARLW) 2R11H - L
7131 201X B ER™ HY (FETIEARWL) 2812H - mL
7132 |204% peq L B RREREN HY (BETIEARW) 2R 13H - BileS:a=]
7133 |70f% S BRREREN HY (BETEAEW) 2A11H - L
7134|4048 peq L B RRERRTE N HY (BETIEARW) 2R 14H - NBE
7135 [10f% Legc BRREREN HY (BETEAEW) 28148 - L
7136 |40f% Bk EIRT HY (BETIEARW) 2R 12RH - BE3




3/13~—2

&S FR R BE#(GEL) KR FAEH (£2) AR S
7137|3048 Bt bty HY (BETHEARL) 2R 13H ) E=vad=|
7138 [20f% Legc BRREMEN HY (BETEAEW) 2A15H - 58
7139|1048 peq L SR REREN HY (BETIEARW) 2R11H HY (FH34) #L
7140 |30f% S IR HY (BETEAEW) 2A15H HY (FK33) Eyan=|
7141|3048 peq L ERT HY (BETIEARW) 2R11H HY (FH33) #L
7142 |10mKT | B IR HY (BETEAEW) 2A15H HY (FK33) L
7143|5048 peq L B RREREN HY (BETIEARLW) 2R 15H ) E=vad=|
7144 |40F% S BREREFRTERN IR 2R 14H HY Eyan=|
7145|5048 peq L B RREREN fERER 2R 148 Y E=vad=|
7146 [20f% S BREREFRTERN IR 2R 14H HY Eyan=|
7147 |90mRLAE &M B RRERRTE N HY (BETIEARW) 2R 10H - L
7148 |30f% S BRREREN HY (BETEAEW) 2A13H - L
7149 |10 (&M SR REREN HY (BETIEARW) 2R 14H HY L




4/13_R—

&S FR R BE#(GEL) KR FAEH (£2) AR S
7150  |10m%KiE |BiE B RRERREN HY (BETEARW) 2R 14H HY L
7151 [50f% Legc BRREMEN HY (BETEAEW) 2A13H HY Eyan=1|
7152|1048 peq L SR REREN HY (BETIEARW) 2R 14H - L
7153 |10 R | &k t&E™ HY (BETEAEW) 2A13H HY (HFE - REMBEK20) L
7154 |10m%KiE |BiE F(E= i HY (BETIEARW) 2R 12RH HY (BB - REMEK20) L
7155 [40f% Legc HEMREEFTE W HY (BETEAEW) 2A10H - E=yan=|
7156 |204% peq L F( =i HY (BETIEARLW) 2R11H HY (BB - REMEK20) BileS:a=]
7157  [30f% Eegc t&E™ HY (BETEAEW) 2A12H HY Eyan=1|
7158 |404% Bt AR AT E N fERER 2R 12H Y ELN
7159 10K (& HEMREEFTE W IR 28128 HY) L
7160 |104% Bt AR AT E N fERER 2R 12H HY L
7161 201X pegis ®Em HY (FETIEARWL) 2811H - mL
7162 |304% peq L F (=i HY (BETIEARW) 2A9H HY (EEMHEHRL) BileS:a=]




5/13~—2

&S FR R BE#(GEL) KR FAEH (£2) AR S
7163 301K % el ) HY (BETIEAWL) 2A11H &HY) N 3=
7164 401X i =l HY (BETEAEW) 2A11H HY) 5L
7165 |504% peq L AR AT E N HY (BETIEARW) 2A9H - ELN S
7166 [20% Legc HEMREEFTE W HY (BETEAEW) 2A7H - 2N
7167|1048 Bt AR AT E N HY (BETIEARW) 2R 10H - L
7168 [10f% B =l HY (BETEAEW) 2A13H HY) 5L
7169 301K pegca el ) HY (EFETIEHRL) 28108 - BHEZ%E
7170 [40f% B bk HY (BETEAEW) 2A10H - JE8
7171|3048 Bt AR AT E N HY (BETIEARW) 2R 12RH ) E=vad=|
7172 |60f% Eegc HEMREEFTE W HY (BETEAEW) 2R 6H HY BEX
7173|3048 peq L F( =i HY (BETIEARW) 2R 13H - E=van=|
7174 |40F% S t&E™ HY (BETEAEW) 2A15H - E=yan=|
7175 |10f% B Em HY (BETEAEW) 28148 - 3L




6/13~—<

&S FR R BE#(GEL) KR FAEH (£2) AR S
7176 |10m%KiE |BiE ftEm FERER 2R 148 - L

7177 |10£% Legc HEMREEFTE W HY (BETEAEW) 28128 HY) 5L

7178 |104% Bt AR AT E N HY (BETIEARW) 2R 13H HY L

7179 |10mKRT | &k HEMREEFTE W HY (BETEAEW) 2A13H HY) 5L

7180 [|304% Bt F(E= i HY (BETIEARW) 2R 13H HY (BB - REMEK20) E=van=|

7181  |10mRi |k t&E™ HY (BETEAEW) 2R 12H HY (HE - REMBEK20) L

7182 |10k (&M F( =i HY (BETIEARLW) 2R 13H HY (BB - REMEK20) L

7183 [40f% S t&E™ HY (BETEAEW) 2A13H HY (HFE - REMBEK20) Eyan=|

7184 |304% peq L F( =i HY (BETIEARW) 2R 12RH HY (BB - REMEK20) E=van=|

7185  [30f% Eegc t&E™ HY (BETEAEW) 2A13H HY (HFE - REMBEK20) W= b2 A< —
7186 |304% Bt AR AT E N HY (BETIEARW) 2R 14H ) E=vad=|

7187  |70f% 7 bk HY (BETEAEW) 2A13H HY) L

7188 2015 M el ) HY (EFETIEHRL) 2811H - mL




7/13—2

&S FR R BE#(GEL) KR FAEH (£2) AR S
7189 501% St el ) HY (EFETIEHRL) 2A10H »H) BEXE

7190 [30f% i =l HY (BETEAEW) 2R9H HY Eyan=1|
7191|1048 Bt Em HY (BETHEAWL) 2R11H HY L

7192 [30f% i =l HY (BETEAEW) 2A13H HY) 5L

7193 301K % el ) HY (EFETIEHRL) 28148 - E=gan=|

7194 [20£% 7 =l HY (BETEAEW) 28128 HY) 5L

7195 301K pegca el ) HY (EFETIEHRL) 2811H - e SN

7196 [30f% S HEMREEFTE W HY (BETEAEW) 2A10H - BEX
7197|408 peq L F( =i HY (BETIEARW) 2R 13H - NR— b & A <—
7198 |10k | &k t&E™ HY (BETEAEW) 2A13H HY (HFE - REMBEK20) L

7199 |10 (=M AR AT E N HY (BETIEARW) 2R 13H HY L

7200  |[10mEKG | B HEMREEFTE W HY (BETEAEW) 28148 HY) L

7201 |40f% Bk F (=i HY (BETIEARW) 2R 10H ) E=vad=|




8/13R—2

&S FR R BE#(GEL) KR FAEH (£2) AR S
7202 |104% Bt F( =i HY (BETEARW) 2RA7H ) L
7203 |10mR |k t&E™ HY (BETEAEW) 27108 HY) 5L
7204 |104% Bt F( =i HY (BETIEARW) 2R 14H HY L
7205 301K Bk &M HY (EIETIEAEW) 2A13H HY (B - REMEX20) E=yan—|
7206 |204% peq L F(E= i HY (BETIEARW) 2R 14H HY (BB - REMEK20) E=van=|
7207 [30f% 7 =l HY (BETEAEW) 2R 14H HY N
7208 104X pegca el ) HY (EFETIEHRL) 28 13H - mL
7209 [10f% i bk HY (BETEAEW) 2A13H - L
7210 501% S B4 (db k) HY (EFETIEHRL) 2R9H »H) BEXE
7211 |40F% S HEMREEFTE W HY (BETEAEW) 2R 14H - 2N
7212|1048 Bt AR AT E N HY (BETIEARW) 2R 13H - L
7213 |50f% S t&E™ HY (BETEAEW) 2R 14H HY Eyan=1|
7214 105K | &% &M HY (BETIEEW) 2A15H - %L




9/13~—2

HS FHK TR BE#CED FER FAEH(E2) it E EEES
7215|1048 peq L F( =i HY (BETEARW) 2R 15H - L
7216 [50f% S HEMREEFTE W HY (BETEAEW) 2A13H - Eaks-d=]
7217 101% S REBRIEFTEN HY (BETIEEWL) 2A11H HY 5L
7218 |10f% Legc BN HY (BETEAEW) 28148 HY) 5L
7219  |50f% S BN IR 2R 15H HY) E=gan-|
7220 |10f% S BN HY (BETEAEW) 28148 HY) 5L
7221 |70£% i BN ER 2A15H HY L
7222 |10m A | B tbm (RMNREFTER) HER 2A15H »HY 3L
7223 |30f% =1 bt (BEMREREN) HY (BETIEEW) 2R 148 HY) E=gan=|
7224 |60% Eegc BN IR 2A15H HY) L
7225  |50f% pegis BN IR 2R 15H HY) SifzNiEg=]
7226 |60f% Legc BN HY (BETEAEW) 28148 - L
7227 |40f% pegis BN HY (BETIEEW) 2A13H - E=gan=|




10/13_—%

&S FR R BE#(GEL) KR FAEH (£2) AR S
7228 |504% Bt B3 HY (BETHEARL) 2R 10H - E=van=|
7229  |10mR (& BN HY (BETEAEW) 28128 - L
7230 |604% peq L —BgmH HY (BETIEARW) 2R 13H HY (SiEMHERS) BileS:a=]
7231 |10k (B —BI™ HY (BETEAEW) 2A13H HY (BEHEMERS) mL
7232|1048 Bt —BgmH HY (BETIEARW) 2R11H HY (F136) #L
7233 |10f% S —Eh HY (BETEAEW) 2A11H HY (F136) L
7234|1048 peq L —BgmH HY (BETIEARLW) 2R 13H HY (F1536) #L
7235 [40f% Eegc —Eh HY (BETEAEW) 2A12H HY (F136) Eyan=|
7236 105K | &% —Bm HY (BETIEEWL) 2A14H HY 7% L
7237 |10£% S —Eh HY (BETEAEW) 2A13H HY (F136) L
7238 |104% peq L —BgmH HY (BETIEARW) 2R 13H HY (F1536) L
7239 |10mRT (& —BH IR 2R 14H HY (F136) L
7240|1048 Bk —BEREFTE N HY (BETIEARW) 2R 12RH HY (F1536) #L
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11/13_—=%

&S FR R BE#(GEL) KR FAEH (£2) AR S
7241 |10m%KE |BiE —BgmH HY (BETEARW) 2R 13H HY (F136) L
7242 |10£% B —B HY (EETIEAEWL) 2R 12H HY (F136) L
7243|1048 Bt —BgmH HY (BETIEARW) 2R 13H HY (F136) #L
7244 |10£% B —B HY (EETIEAEW) 2R 14H HY (F136) L
7245 301K pegis —Bm HY (EFETIEHRL) 28 15H HY) (F#:36) N 3=
7246 [20f% Legc —Eh HY (BETEAEW) 2R 12H HY Eyan=|
7247|408 Bt —BgmH HY (BETIEARLW) 2R11H ) E=vad=|
7248 101X Eegc —Eh HY (BETEAEW) 28148 HY) L
7249 |204% peq L —BgmH HY (BETIEARW) 2R11H - L
7250 |30f% Eegc —BREFERN HY (BETEAEW) 2A11H - 58
7251 |704% peq L —BEREFTE N HY (BETIEARW) 2R 14H - L
7252 [30f% Legc —BREFERN HY (BETEAEW) 2A12H - E=yan=|
7253 2015 S —Bm HY (EFETIEHRL) 28 13H - N 3=
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12/13_—=%

&S FR R BE#(GEL) KR FAEH (£2) AR S
7254 |804% peq L —BgmH HY (BETEARW) 2R 15H HY L
7255  [20f% S EHREMEN HY (BETEAEW) 2A13H HY RNIBE
7256 |204% peq L BEREEN HY (BETIEARW) 2R 13H HY L
7257 |40f% S =hm HY (BETEAEW) 2A11H HY Eyan=|
7258  |50f% B =Hm HY (BETEAEW) 2A15H HY E=zan=]
7259  [10f% S =hm HY (BETEAEW) 2A15H HY) 5L
7260 |704% Bt BEREREN HY (BETIEARLW) 2R 10H - L
7261 [80f% S =hm HY (BETEAEW) 2A15H - L
7262 |404% Bt AFEH HY (BETIEARW) 2R 12RH HY L
7263 |30f% Eegc ARREFTERN HY (BETEAEW) 2R 14H HY Eyan=1|
7264 |304% peq L AFEH HY (BETIEARW) 2R 13H ) E=vad=|
7265  [10f% Legc ARREFTERN HY (BETEAEW) 2A13H HY) L
7266 |10k (&M ATEIREFTE N HY (BETIEARW) 2R 14H - L
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HS FHK TR BE#CED FER FAEH(E2) it E EEES
7267 101% S ARREFTEAN HY (BETIEEW) 2A12H - 7L
7268 401X Legc ARREFTERN HY (BETEAEW) 2R 14H HY Eyan=1|
7269 [20f% pegis ARREFTEA HY (BETIEEWL) 2R 148 HY 5L
7270 [40f% i —F HY (BETEAEL) 2R 12H HY Eyan=|
7271 |10£% i —Fh HY (BETIEEWL) 2A9H - 3L
7272 |10£% Legc —Fm HY (EETIEAEW) 28128 HY) L
7273 |804% Bt —FHT HY (BETIEARW) 2R 121 HY L
7274 [90mA L |k —F HY (BETEAEL) 2A13H HY (BEEERT) L
7275 |80f% pegis - IR 2R 14H HY (SEEEMBKT) 7L
7276 |90 L | & —Fh HY (BETIEAEW) 28148 HY (SEEERT) mL
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